	 
	Race 1
	Outcome of R1
	Race 2
	Bet Cost
	Final Cost

	DD1
	1,2
	 
	2,3,4,5,6
	2*5@50C = $5
	 

	DD2
	2,3,4,5,6
	 
	1,2
	5*2@50C = $5
	 

	Place
	3
	 
	 
	1@$5 = $5
	 

	 
	 
	#1 wins, 3P places
	Place, Lowest odds that is not 2,3,4,5,6
	1@$10 = $10
	$25

	 
	 
	#1 wins, 3P fails
	Place, Lowest odds that is not 2,3,4,5,6
	1@$20 = $20
	$35

	 
	 
	#2 wins, 3P places
	No Bet
	-
	$15

	 
	 
	#2 wins, 3P fails
	Place, Lowest odds that is not 2,3,4,5,6
	1@$10 = $10
	$25

	 
	 
	#3-6 wins, 3P places
	Place, Lowest odds that is not 1,2
	1@$5 = $5
	$20

	 
	 
	#3-6 wins, 3P fails
	Place, Lowest odds that is not 1,2
	1@$10 = $10
	$25

	 
	 
	#7,8 wins, 3P places
	No Bet
	-
	$15

	 
	 
	#7,8 wins, 3P fails
	No Bet
	-
	$15


